Division Problems

Easy:

1.

Shereen bought some packs of 6 cards.
Altogether she had 30 cards.
How many packs of 6 cards did she buy?

Plants are sold in trays of 20.
David wants 240 plants.
How many trays does he need to buy?

One length of a swimming pool is 25 metres.
How many lengths are there in a 150 metre race?

Average:

1.

Jenny thought of a number.

She doubled it, then added four.
The answer was eighty-eight.
Which number did she think of?

Eggs are put in trays of 12.

The trays are packed in boxes.
Each box contains 180 eggs.

How many trays are in each box?

Some children go camping.

There are 70 children.

Each tent takes up to 6 children.

What is the least number of tents they will need?

Parveen buys 3 small bags of peanuts.

She gives the shopkeeper £2 and gets 80p change.

What is the cost in pence of one bag of peanuts?

Raisins cost 80p for 100 grams.
Jack pays £2 for a bag of raisins.
How many grams of raisins does he get?

Peter says: ‘I'm thinking of a number.
| multiply it by 10 and add 25.

My answer is 100.

What is the number?

Mathematics - Planning Support
© Lancashire County Council (2015)

Mathematics|Planning Support

Ry



%ﬁ)’&
Division Problems

7. Jemma thinks of a number.
She says: ‘Add 3 to my number and then multiply the result by 5.
The answer is 35.’
What is Jemma’s number?

8. A spoonful of medicine is 5ml.
How many spoonfuls can you get from a 375 ml bottle?

9. Michelle has saved £8.40 in 20p coins.
How many 20p coins does Michelle have?

10. Guide books for the waxworks cost £1.50 each.
The waxworks sells £24 worth of guide books.
How many guide books is this?

11. Programmes for a school concert cost 15p each.
Selling programmes raises £12.30.
How many programmes are sold?

12. A box holds 6 eggs.
How many boxes are needed to hold 52 eggs?

13. Some children do a sponsored walk.
Lynne wants to raise £100.
She is sponsored for £6.50 for each lap.
What is the least number of whole laps she must do?
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Harder:
1. There is 60 g of rice in one portion.
How many portions are there in a 3 kg bag of rice?

2. Programmes for a sports event cost 65p each.
The total money from programme sales is £612.95.
How many programmes are sold?

3. 427 children visit a castle.
They go in groups of 15. One group has less than 15.
Every group of children has one adult with them.
How many adults will need to go?

4. Every day a machine makes 100 000 paper clips which go into boxes.
A full box has 120 paper clips.
How many full boxes can be made from 100 000 paper clips?

5. Each paper clip is made from 9.2 centimetres of wire.
What is the greatest number of paper clips that can be made from 10 metres of wire?

6. Sima thinks of a number.
She divides it by 12.
Her answer is 26.
What is the number Sima thinks of?

7. The distance from Calais to Paris is 320 kilometres.
5 miles is approximately 8 kilometres.
Calculate the approximate distance in miles from Calais to Paris.

8. Samira bought a present in France.
She paid 44.85 French francs for it.
9.75 French francs equalled £1.
What was the cost of the present in pounds and pence?
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